1565,1010	6	MYZ, At	MAR (V LKK:	
INS. CASE OWNER	Jan CC /CTI1800 (UPNT I	onkin olali	0/
	ASSIGNA DOI: ASSIGNA	Xit's	Pate / rime :	8
Surveyor:	HOINIM DOI:		egistered in Merimen:	_
Surveyor		К		- ed.
Pre-assign/CCU/F	TE		CHWKDO0;	16600
	6 ck 2256]	Claim No. :		170 4521401
Insured Vehicle No.	SONG PEWG	Policy No.		170 49414-1
Name of Insured	HP: 91052875/	Make / Model	TOYDEA	
Insured Tel No.		Place of Accider	- nt - mD 5 D	unybor Ro
Excess Sec II :S\$	D.O.A: 6767/18	race or recons		
Is driver the owner?	(YES) / NO) Nature of Accident :	- Carl MEDOD	TYES / NO ; TP GIA REPOR	T(YES) NO
If NO. Driver Name	/ Age :			s/No
Driver Tel N	(V/L/VFS/NO)	Insured Liability	6/14	1000000
PC 5983A	1 12:M-	SUK3256	J \$6H	LUSIA
10 910		INSRS:	INSR	
INSRS:	INSRS: WSP:	WSP:	WSP:	1,100
WSP: Tel:	1 Tel: A A	Tel: Liability:	Liabil	lity:
Liability:	Liability:	RMKS:	61 RMK	s: Up
RMKS:	RMKS:	Kilikis	***	
Date/ Time			STAGE	DATE / PIC
12/1/10/	SUMMYSTER SUL BIGG	1-4	Non-Reporting ltr (1st):	
(A) Nig			Non-Reporting ltr (2nd):	
2 11 5			Non-Reporting ltr (Final): Notification ltr (if non-pickup):	
71/13		1 4	Call Ol: 7 3 1	.d
214/14		dm1.	After call ltr to OI:	4118
-(111	OI INVOIVED your CC	GOA NIN	Documentation Check List: H	andler Typist
	inform TY claim an	ared NLB	Notification ltr (if non-pickup)	
	VIAN YELD. LETTE SENT		After call ltr to Ol:	
	All wass to type report		Authorisation To Act:	
	THE PROSE OF STATE OF THE PROSE		Release Voucher	Y H
			Final Repair Bill:	
			Car Rental Invoice:	
			Towing Invoice LTA / GIA :	
			Medical Bill:	
			PIR:	
			Mandate/Reject Instruction:	
			LOD	
	1 × × × /		Payment Breakdown Form;	
	Sent By:	cal.	Post-Repair Photos:	
RELIMINARY ADVICE	E Date/Time: Sent By:	#1	Others:	
	Confirm with:		Confirm by:	
INALIZATION	Date/Time.	.92 %	Email	Call
epair Cost:	S\$ 11,000 00 (10 days) Reduction: 01 Date/Time: Confirm with		Email Call	2
INAL SETTLEMENT	% 100 (Agreed / Assessed) BOLA S/N No. :	28		91152nd
inal Liability: tepair Cost:	SS 11,000.00		4 veh cc	The land
oss of Rental (LOR):	SS - (days)		(C) 44 (V)	46-717
oss of Use (LOU):	SS 960-00 (\$ 80-00 x 12 days)		- WWI	
oss of Income (LOI):	SS — (S x days)	anel	1	
OR only LOU on		onej		400
GIA/LTA Search	ss 7.45		1) Claim status: Normal/Re	ject/Private Settle
Medical:	SS (e.g. Tow/ Indep	endent)	2) Report Format:	
Disbursement:	33	CHACIN /	3) Survey fee: 44	00.00
Legal Cost	S\$ 1,967.45 Global Sum S\$:			
Total:	Described Confirm with:		Email Call	
FINAL PAYMENT	Date Time.	K TECK Motor	Pte Ltd	
Payce 1:	- N A	1384		
Payee 2: (Strike if N.A.)	33			
Payee 3: (Strike if N.A.)	SS Name 3:			



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	=		nationale Des Experts En Autom	0.0000.00
CHII	NA TAIPING INSU	RANCE (S) PTE LTD	Ref : CC6/CTI18002	542/AyD3
3 AN	ISON ROAD #16-0	0		
		SINGAPORE 079909	Date: 09-02-2018	
			Code: CTI	
1.		Policy Particul	ars :- THIRD PARTY CLA	M
	Insured Veh.	SLK 3256J	Veh. Inspected	SGH 2237X
	Policy No.		Coverage (\$)	0.00
	Claim No.		Excess (\$)	0.00
	Assign From		Assign Date	09/02/2018
2.		Vehicle P	articulars & Condition	
	Make & Model		c.c	0
	Engine No.	e No. HIDDEN Year of Reg.		
	Chassis No.	assis No. Colour		
	Odometer	141	Steering	
	Brakes		Modification	
	General			
3.		Cor	nditions of Tyres	
		Size	Make	Balance
	R/H Front Tyre			mm
	L/H Front Tyre			mm
	R/H Rear Tyre			mm
	L/H Rear Tyre			mm
4.		Descr	ription of Damages	
5.		Ger	neral Information	
inic.	Accident Date	07/02/2018	Inspection Date	08/02/2018
	Survey held at	NEW HOCK TECK MOTOR		
	50°	1 KAKI BUKIT AVENUE 6 # SINGAPORE 417883	01-43 AUTOBAY @ KAKI BUR	KIT
5a.			Remarks	

EGCARMART.COM

Login Sign up

New Cars

Used Cars

Sell My Car

Directory

Products

Articles

Forum

Tools & Tips



SELL YOUR CAR BY BIDDING HIGHEST SELLING PRICE GUARANTEED! OR GET \$100 CASH!



Toyota Wish

Price Range

Depreciation ▼ > 10 year(: ▼ Vehicle Type

50

Used Car Comparison

--- Comparing 4 Vehicles ---

Toyota Wish 1.8A Acrosports (COE till 08/2021)



Toyota Wish 1.8A (COE till 07/2021)



Toyota Wish 1.8A (COE till 03/2021)



Toyota Wish 1.8A (CO 03/2021)



Clear All

Add all to Shortlist

Add to Shortlist

Add to Shortlist

Add to Shortlist

COE expiry date 2021-03-22

Add to Shortlist

Back to search result

Price	\$30,000	\$28,838	\$29,300	\$27,888
Instalment	N.A.	N.A.	N.A.	N.A.
Registration Date	28-Aug-2006	07-Jul-2006	25-Mar-2006	23-Mar-2006
Manufactured	2006	2006	2006	2005
Mileage	50	169,000 km	160,000 km	24,600 km
Transmission	Auto	Auto	Auto	Auto
Engine Cap	1,794 cc	1,794 cc	1,794 cc	1,794 cc
Road Tax	\$1,166 /yr	\$1,166 /yr	\$1,166 /yr	\$1,166 /yr
Power	97.0 kW (130 bhp)	97.0 kW (130 bhp)	97.0 kW (130 bhp)	97,0 kW (130 bhp)
Curb Weight	1,300 kg	1,300 kg	1,300 kg	1,300 kg
Features	Equipped With Auto Headlamps, Opitron Meter, Rear Disc Brakes, GPS Headunit And Sound System. New 18 Inch Tyres And Collovers.	16 Valves WTi DOHC Engine. Best Fuel Efficiency MPV. 130Bhp. Steptronic Auto Transmission. Dual Airbags. ABS. Digital Auto Climate Aircon.	Four Speed Auto Transmission, 1.8L DOHC VVT-I Engine, Digital Auto Climatic Aircon Control, 7 Seater.	Four Speed Auto T DOHC WT-I Englis Aircon Control, 7 S
Accessories	×	7 Seater, Knockdown Rear Seats, Double Din Entertainment System, Sports Rims, Beautiful Interior, Reverse Sensors And Solar Film.	Sports Rims, Parking Sensors, Hi-Fi System, Central Locking, Rear Knockdown Seats.	Sports Rims, Parkir Reverse Camera, H Locking, Rear Knot
Description	Beautiful Red Unit, Well Maintained By Owner. Selling Due To Upgrading To Bigger MPV, Highly Recommended For Big Family User. Spacious, Efficient And Reliable. Trade In Welcome! Negotiable. Please Call To Arrange For Viewing!	Tip Top Condition, 100% In House Loan, Low Down Payment, Don't Need Guarantor's No Repairs Need! We Deliver Our Promise! High Trade In Most Welcome! Flexible Bank/In House Loan Available! View To Believe! Don't Miss, Call Today!	Grey Toyota Wish, Spacious And Reliable, Tip Top Condition, Well Maintained, Fussy Owner, Paintwork 97%, Engine Very Clean, New Tires.	Spacious And Relia Condition, Drive Ti Plus), Well Maintair
COE	\$27,232	\$25,815	\$25,466	\$25,466
OMV	\$22,064	\$18,660	\$20,676	\$19,978
ARF	\$24,271	\$20,526	\$22,744	\$21,976
Depreciation	\$8,450 /yr	\$8,460 /yr	\$9,380 /yr	\$8,940 /yr
No. of Owners	5	3	6	3
Type of Vehicle	MPV	MPV	MPV	MPV
Category	COE Car, Consignment Car	COE Car	COE Car, Direct Owner Sale	COE Car, Direct Ov Mileage Car
Availability	Available	Available	Available	Available

COE expiry date 2021-03-22

Remarks

COE expiry date 2021-03-22

COE expiry date 2021-03-22

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type:

Company

Owner ID:

4822D

Vehicle Details

Vehicle No.:

SGH2237X

Vehicle to be Exported:

Yes

Intended De-registration Date:

08 Feb 2018

Vehicle Make:

TOYOTA

Vehicle Model:

WISH 1.8 A

Primary Colour:

Blue

Manufacturing Year:

2006

Engine No.:

1ZZ2527137

Chassis No.:

ZNE100298397

Maximum Power Output:

97.0 kW (130 bhp)

Open Market Value:

\$21,237.00

Original Registration Date:

02 Jun 2006

First Registration Date:

02 Jun 2006

Transfer Count:

5

Actual ARF Paid:

\$23,361.00

Intended PARF Rebate Details

PARF Eligibility:

Forfeited

PARF Eligibility Expiry Date:

....

PARF Rebate Amount:

\$0.00

Intended COE Rebate Details

COE Expiry Date: 01 Jun 2021

COE Category: E - Open Category

COE Period(Years): 5

PQP Paid: \$24,240.00

COE Rebate Amount: \$16,069.00

Total Rebate Amount: \$16,069.00

Message

Please note that the 5-year COE for this vehicle cannot be further renewed. The vehicle must be deregistered upon COE expiry or when the vehicle reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 08 Feb 2018

OK

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type:

Company

Owner ID:

4822D

Vehicle Details

Vehicle No.:

SGH2237X

Vehicle to be Exported:

No

Intended De-registration Date:

08 Feb 2018

Vehicle Make:

TOYOTA

Vehicle Model:

WISH 1.8 A

Primary Colour:

Blue

Manufacturing Year:

2006

Engine No.:

1ZZ2527137

Chassis No.:

ZNE100298397

Maximum Power Output:

97.0 kW (130 bhp)

Open Market Value:

\$21,237.00

Original Registration Date:

02 Jun 2006

First Registration Date:

02 Jun 2006

Transfer Count:

5

Actual ARF Paid:

\$23,361.00

Intended PARF Rebate Details

PARF Eligibility:

Forfeited

PARF Eligibility Expiry Date:

9256

PARF Rebate Amount:

\$0.00

Intended COE Rebate Details

PARF/COE Rebate Enquiry

https://vrl.lta.gov.sg/lta/vrl/action/enquireRebateByPublicBeforeDe...

COE Expiry Date: 01 Jun 2021

COE Category: E - Open Category

COE Period(Years): 5

PQP Paid: \$24,240.00

COE Rebate Amount: \$16,069.00

Total Rebate Amount: \$16,069.00

Message

Please note that the 5-year COE for this vehicle cannot be further renewed. The vehicle must be deregistered upon COE expiry or when the vehicle reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 08 Feb 2018

OK



新福德車廠私人有限公司

china Taigng

NEW HOCK TECK MOTOR PTE. LTD.

1 Kaki Bukit Ave 6, Blk C #01-43 Autobay@Kaki Bukit, Singapore 417883 Website: www.nhtmotor.com Email: admin@nhtmotor.com Tel: 6747 9241 Fax: 6741 7276

UEN: 201718370K

DIVINE N DYNAMIC PTE LTD

Blk 1 Kaki Bukit Ave 6

01-43

Singapore 417883

TP China

Jus

08/02/2018

\$8 DAYS

4 5 - 12200 A'06 (14 d'm)

Accident date: 07/02/2018

Estimated repair cost for vehicle no: SGH2237X TOYOTA WISH 1.8 A '06

		WEATE	U/PRICE	AMOUNT 174
/N		Rear Boot Lid Distarted		\$1,345.20 124
1	_1_	IVEST DOOR ELE	\$141.40	\$282.80 X
2	2	Rear Boot Lid Shock Absorber	\$371.85	\$743.70
3	2	Real Boot Eld Stroom Tool		\$51.10
4	1	Rear Boot Lid Emblem Logo Au Rear Boot Lid Centre Chrome Moulding Culted		\$274.45
5	1	Rear Boot Lid Centre Chrome Moulding Clin Alex	\$6.50	\$39.00-10
6	4	Rear Boot Lid Centre Chrome Moulding Clip Nu		\$50.00
7	_ 1	Rear Boot Lid Number Plate Sect	\$105.10	\$210.20
8	2	Real Boot Cid Mulliber Flace		\$238.60×
9	_ 1	Rear Boot Lid Outer Lock Switch		\$374.45
10	_ 1	Rear Boot Lid Inner Lock Owyd		\$381.90
11	1	Rear Boot Lid Inner Rubber Cat		\$781.45
12	1	Kear Book Clo IIII C.		5122.25 ×
13	1	Rear Boot Lid Wiper Link ?		\$181.90 4
14	1	Rear Boot Lid Wiper Arm		\$122.35 +
15	1	Rear Boot Lid Wiper Arm Cover		\$389.20 +
16	1	Rear Boot Lid Wiper Motor XIII MAN.		\$971.80 X
17	1	Rear Boot Lid Windscreen No Mou		\$125.00
18	1	Rear Boot Lid Windscreen Top Seal	\$65,00	\$130.00
19	2	Rear Boot Lid Windscreen Side Moulding		\$550,00-38
20		Rear Boot Lid Camera (Special Nett) Tamy	\$387.40	\$774.80
21	2	Rear Tail Lamp crulled	\$8.00	\$32.00
22	4		-	\$378.85
23	1	Rear L/H Tail Lamp Panel Devted		\$477.60 ×
24				\$625.20
25		Rear Bumper Distorted	\$6.50	\$52.00 3
26	8		\$88.60	\$177.20
27	7 2		\$132.10	\$264.20)
28	3 2	Rear Bumper Side Retainer 🖫	3132.10	136.2

0))			8570
29	2	Rear Bumper Side Reflector LA は	\$141.45	\$282.00 777
_	1	Rear Bumper Reverse Sensor (Special Nett)		-\$380:00 200(5
30	1	Rear L/H Bumper Mud Shield 2 per	_	\$172.25∤
31	4	Rear L/H Bumper Mud Shield Clip	\$6.50	\$26.00 1
		Rear L/H Fender Budded		\$972.45
33	1			\$100.40 %
34	1	Rear L/H Fender Air Duct Typew		\$396.20*
35	1	Rear L/H Fender Glass Assy	\$471.45	\$942.90
36	2	Rear Fender Inner Trim Board Delad	\$471.45	
37	1	Rear End Panel Outer & Disclorited		
38	1	Rear End Panel Inner		(3100.30)
39	1	Rear End Panel Top Garnish De Wined		8374.45
40	1	Rear Floor Panel Mis		\$980.30 ⊀
41	2	Rear Floor Panel Top Cover Dela	\$282.10	\$564.20-2821
42	2	Rear Floor Panel Side Cover LH Dele	\$168.40	\$336.80 (48.4
43	1	Rear Floor Panel Inner Garnish		\$291.40
44	1	Rear Floor Panel & End Panel Sealant		\$450.00 60 6
45	1	Rear Exhaust Ge		\$961.20
46	2	Rear Exhaust Mounting AL A	\$67.60	\$135.20 ×
47	1	Rear Centre Exhaust Wt ~		\$1,714.20 <
48	1	Rear Spare Tyre Bracket NHW		\$194.85

11022 65 S.N 640 Subtotal:- \$20,693.20 826698

Labour charges

48

Rear Spare Tyre Bracket ルルベ

To remove & refit cushion	\$280.00 80.
To remove & refit roof linning	\$380.00 ×
To remove & refit petrol tank	\$280.00 80
To remove & refit reverse sensor	\$100.00 50
To remove & refit camera	\$180.06 5)
To remove & refit fender glass	\$120.00 60 · \$50.00 30 · \$120.00 /00
Gum	\$50.00 30.
To remove & refit rear windscreen	\$120.00/00
Gum	\$50.00

To remove & refit rear & centre exhaust		\$380.00 80
To check wiring		/
Towing fee		\$100,00 50
Tuff kote	3720	\$150.00 60
Panel beating	2000	\$3,500,00 1300
Spray painting	1500	\$2,400.00 1200
	Subtotal:-	\$8,190.00
	Total:-	\$28,883.20
	told: 12126 1/5 9.7K	- 98
	Js 97K	61.
	080a	r

= "WINDIN YAK

china Tairing



新福德車廠私人有限公司

NEW HOCK TECK MOTOR PTE. LTD.

1 Kaki Bukit Ave 6, Blk C #01-43 Autobay@Kaki Bukit, Singapore 417883 Email: admin@nhtmotor.com Website: www.nhtmotor.com Tel: 6747 9241 Fax: 6741 7276

UEN: 201718370K

DIVINE N DYNAMIC PTE LTD Blk 1 Kaki Bukit Ave 6 # 01-43 Singapore 417883 08/02/2018

Accident date: 07/02/2018

Estimated repair cost for vehicle no: SGH2237X TOYOTA WISH 1.8 A '06

Jus

S/N	QTY	ITEMS	U/PRICE	AMOUNT
1	1	Rear Boot Lid Distated		\$1,315.20
2	2	Rear Boot Lid Hinge > > > > > > > > > > > > > > > > > > >	\$141.40	\$282.80 ×
3	2	Rear Boot Lid Shock Absorber	\$371.85	\$743.70
4	1	Rear Boot Lid Emblem Logo		\$51.10
5	1	Rear Boot Lid Centre Chrome Moulding Culted		\$274.45
6	4	Rear Boot Lid Centre Chrome Moulding Clip New	\$6.50	\$39.00-/
7	1	Rear Boot Lid Number Plate 3et		\$50.00
8	2	Rear Boot Lid Number Plate Lamp Atl New	\$105.10	\$210.20
9	1	Rear Boot Lid Outer Lock Switch		\$238.60
10	1	Rear Boot Lid Inner Lock Dayd		\$374.45
11	1	Rear Boot Lid Inner Rubber ムナ		\$381.90
12	1	Rear Boot Lid Inner Trim Board Dela		\$781.45
13	1	Rear Boot Lid Wiper Link 2		\$122.25
14	1	Rear Boot Lid Wiper Arm		\$181.90
15	1	Rear Boot Lid Wiper Arm Cover		\$122.35
16	1	Rear Boot Lid Wiper Motor And Mice		\$389.20
17	1	Rear Boot Lid Windscreen		\$971.80
18	1	Rear Boot Lid Windscreen Top Seal		\$125.00
19	2	Rear Boot Lid Windscreen Side Moulding	\$65.00	\$130.00
20	1	Rear Boot Lid Camera (Special Nett) Januar		\$550.00-3
21	2	Rear Tail Lamp Crulled	\$387.40	\$774.80
22	4	Rear Tail Lamp Clip Klav	\$8.00	\$32.00
23	1	Rear L/H Tail Lamp Panel Devted		\$378.85
24	1	Rear L/H Tail Lamp Inner Panel Pepis		\$477.60 ~
25	1	Rear Bumper Distorted		\$625.20
26	8	Rear Bumper Clip M	\$6.50	\$52.00 3
27	2	Rear Bumper Bracket Jested	\$88.60	\$177.20
28	2	Rear Bumper Side Retainer NW	\$132.10	\$264.20

	1	11	1
9	5	7	U
0	-	_	

29	2	Rear Bumper Side Reflector LA LA	\$141.45	\$282.90
30	1	Rear Bumper Reverse Sensor (Special Nett)		\$380.00 200 50
31	1	Rear L/H Bumper Mud Shield Zere av		\$172.25
32	4	Rear L/H Bumper Mud Shield Clip	\$6.50	\$26.00 4
33	1	Rear L/H Fender Buckled		\$972.45
34	1	Rear L/H Fender Air Duct Ypen		\$100.40 /
35	1	Rear L/H Fender Glass Assy		\$396.20
36	2	Rear Fender Inner Trim Board Jehod	\$471.45	\$942.90 /
37	1	Rear End Panel Outer 2 molected		\$519.80
38	1	Rear End Panel Inner		\$780:50 4%5
39	1	Rear End Panel Top Garnish Deformed		\$374.45
40	1	Rear Floor Panel Mys		\$980.30
41	2	Rear Floor Panel Top Cover Delad	\$282.10	\$564.20-28210
42	2	Rear Floor Panel Side Cover	\$168.40	\$336.80-14840
43	1	Rear Floor Panel Inner Garnish		\$291.40
44	1	Rear Floor Panel & End Panel Sealant /~		\$450.00 (0 <~)
45	1	Rear Exhaust Best		\$961.20
46	2	Rear Exhaust Mounting Nu ~	\$67.60	\$135.20 ×
47	1	Rear Centre Exhaust → →		\$1,714.20
48	1	Rear Spare Tyre Lock Regulator Samued.		\$ 388.90

1262195	S-N 640 Subtotal:-	\$20,693.20
9466.46		

Labour charges

To remove & refit cushion	\$280.00 80
To remove & refit roof linning	\$380.00 ×
To remove & refit petrol tank	\$280.00 80
To remove & refit reverse sensor	\$100:00 50
To remove & refit camera	\$180.00 5
To remove & refit fender glass	\$120.00 60 \$50.00 30
Gum	\$50.00 30
To remove & refit rear windscreen	\$120.00 (00
Gum	\$50.00

\$380.00 80 To remove & refit rear & centre exhaust \$100,00 To check wiring \$100,00 6 Towing fee \$150.00 60 Tuff kote 3820 \$3,500,00 130 Panel beating \$2,400.00 Spray painting \$8,190.00 Subtotal:-Total:-\$28,883.20

tole 13736:46 15 MKL.



LKK Auto Consultants her ce notify the Repairer of the following:

- To resurvey before after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Sinnature:

Shu Pei (LKKAuto)

From:

Lucas Lee <lucas.lee@sg.cntaiping.com>

Sent:

Monday, 12 February 2018 9:48 AM

To:

Shu Pei (LKKAuto)

Cc:

Irene Tay

Subject:

RE: Direct Settlement - Accident Involving SLK3256J (OI: CTI - SNM18D00765C02) and

SGH2237X (TP: LKK REF-CC6/CTI18002642/Ayb3) on 07.02.2018

Attachments:

MANC18020165-SLK3256J.pdf

Dear Shu Pei,

Kindly refer to the above attachment.

Thank you.

Regards,

Lucas Lee

Claims Department (Motor)

China Taiping Insurance (Singapore) Pte. Ltd.

3, Anson Road, #16-00 Springleaf Tower, Singapore 079909

Co. Reg. No. 200208384E

DID: 6389 6181 Fax: 6224 7175

Email: claimsdept@sg.cntaiping.com Email: lucas.lee@sg.cntaiping.com Website: www.sg.cntaiping.com

From: Shu Pei (LKKAuto) [mailto:shupei@lkkauto.com]

Sent: Monday, 12 February, 2018 9:25 AM

To: Lucas Lee Cc: Irene Tay

Subject: RE: Direct Settlement - Accident Involving SLK3256J (OI: CTI - SNM18D00765C02) and SGH2237X (TP: LKK REF -

CC6/CTI18002642/Ayb3) on 07.02.2018

Dear Lucas,

We refer to the below email.

Kindly advice whether insured has reported. If so, kindly let us have a copy of insured's accident report for our necessary action.

Thank you

Best Regards,

Shu Pei | Admin

LKK Auto Consultants Pte Ltd

Phone: 6366-0055 | email: <u>shupei@lkkauto.com</u> | fax: 6741-4108 Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Lucas Lee [mailto:lucas.lee@sg.cntaiping.com]

Sent: Friday, 9 February 2018 1:59 PM

To: Shu Pei (LKKAuto) <shupei@lkkauto.com>
Cc: Irene Tay <irene.tay@sg.cntaiping.com>

Subject: RE: Direct Settlement - Accident Involving SLK3256J (OI : CTI - SNM18D00765C02) and SGH2237X (TP : LKK REF -

CC6/CTI18002642/Ayb3) on 07.02.2018

Dear Shu Pei,

Kindly refer to the above attachment.

Case Handler: Irene Tay

Regards,

Lucas Lee Claims Department (Motor) China Taiping Insurance (Singapore) Pte. Ltd. 3, Anson Road, #16-00 Springleaf Tower, Singapore 079909 Co. Reg. No. 200208384E

DID: 6389 6181 Fax: 6224 7175

Email: claimsdept@sg.cntaiping.com Email: lucas.lee@sg.cntaiping.com Website: www.sg.cntaiping.com

From: Shu Pei (LKKAuto) [mailto:shupei@lkkauto.com]

Sent: Friday, 9 February, 2018 11:25 AM

To: Claims Dept of CTI

Cc: Irene Tay; Admin A; Jas Khine (LKKAuto); Thin Thin (LKKAuto)

Subject: Direct Settlement - Accident Involving SLK3256J (OI : CAI - TBA) and SGH2237X (TP : LKK REF -

CC6/CTI18002642/Ayb3) on 07.02.2018

WITHOUT PREJUDICE

Dear Sir / Madam,

We refer to the above matter.

This is a TP direct settlement case. We had inspected TP vehicle SGH 2237X at M/s New Hock Teck Motor Pte Ltd.

Enclosed herewith a copy of TP's GIA report for your perusal.

Please be informed that estimated cost of repair and preliminary advice is not ready yet.

Meanwhile, kindly let us have a copy of your insured's GIA report for our necessary action.

Kindly take note that the case handler in-charge is Jas and she can be contacted at DID: 6841 2928.

Thank You.

Best Regards,

Shu Pei | Admin

LKK Auto Consultants Pte Ltd

Phone: 6366-0055 | email: shupei@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | 5(408933)

This email has been scanned by the Symantec Email Security.cloud service.

For more information please visit http://www.symanteccloud.com

This email has been scanned by the Symantec Email Security.cloud service.

For more information please visit http://www.symanteccloud.com



中国太平保险(新加坡)有限公司

CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

3 Anson Road #16-00 Springlest Tower Singapore 079900 Tai: 0.389 6111 Fax: 6222 1033 Website: www.sq. ortsping.com Co. Reg. No. 200208384F

Our Reference: SNM18D00765/C02/7

Date: 09 FEBRUARY 2018

via Ordinary & Registered Mail

SONG PENG BLK 196B PUNGGOL FIELD #13-497 SINGAPORE 822196

Dear Sir / Madam

ACCIDENT INVOLVING SLK3256J AND SGH2237X ON 07 FEBRUARY 2018 ALONG TPE TOWARDS PIE BEFORE PUNGGOL WAY

We refer to the abovementioned accident.

Please be advised that the third party vehicle, SGH2237X, is filing a third party property claim against your vehicle.

We have appointed LKK Auto Consultants Pte Ltd, to administer the said claim on our behalf and they will soon contact you for more information about the accident. Kindly render your assistance and co-operation accordingly.

We understand that you or your driver has not filed an accident report within 24 hours as per Motor Claims Framework. We would urge you to comply with the condition to file your accident report with your vehicle (whether damaged or not) to us IMMEDIATELY through LKK Auto Consultants Pte Ltd or any of our authorized workshops. You may log onto our website www.sg.cntaiping.com for location of the respective workshops.

We regret to advice that we and/or LKK Auto Consultants Pte Ltd will not be handling the third party claim and your NO CLAIM DISCOUNT will be penalized upon renewal of your policy if you fail to comply with the condition of reporting.

Yours truly, Claims Department

(This is a computer generated letter and no signature is required.)

CC : LKK Auto Consultants Pte Ltd

Attn : JAS

Ref : CC6/CT

CC6/CTI18002642/AYB3

Contact No: 68412928

via Email : JAS@LKKAUTO.COM

CC : Agent - (AN0590A) - TECK WEI CREDIT PTE LTD

Poh Kin (LKKAuto) Admin nht <admin@nhtmotor.com> From: Thursday, 13 December 2018 12:01 PM Sent: Poh Kin (LKKAuto) To: Chloe Cc: Re: SGH2237X CLAIMING SLK3256J DOA 07.02.18 *LKK REF: Subject: CC6/CTI18002642/Amb3 clear Categories: Without Prejudice Hi Poh Kin We accept your offer as \$11,967.45 Please send us your discharge voucher for close case, thanks. × × × On Thu, Dec 13, 2018 at 10:55 AM Poh Kin (LKKAuto) < pohkin@lkkauto.com > wrote: WITHOUT PREJUDICE Our Ref: CC6/CTI18002642/Afb3 Your Ref: NPLT1803-0051/SGH 2237X Dear Sukyi,

Thank you for your patient waiting on this matter.

We refer to the above matter.

From:

Poh Kin (LKKAuto)

Sent:

Thursday, 13 December 2018 10:55 AM

To:

'Admin nht'

Cc: Subject:

RE: SGH2237X CLAIMING SLK3256J DOA 07.02.18 *LKK REF:

CC6/CTI18002642/Amb3

Importance:

High

Chloe

WITHOUT PREJUDICE

Our Ref:

CC6/CTI18002642/Afb3

Your Ref:

NPLT1803-0051/SGH 2237X

Dear Sukyi,

We refer to the above matter.

Thank you for your patient waiting on this matter.

Purely towards an amicable settlement and without admission of liability to our Insured's part, we have instruction from our principal to offer settlement as below:

1. Cost of Repair	S\$ 11,000.00
2. Loss of Use (\$80.00 x 12 days)	S\$ 960.00
3. LTA search fee	<u>S\$ 7.45</u>
	S\$ 11,967.45

Kindly confirm acceptance.

Your prompt reply will be very much appreciated.

"Kindly note that this negotiation between parties on this matter is purely on a without prejudice basis with the sole intention of resolving the matter amicably without parties resorting to legal proceedings. No admission of liability, whatsoever, should be deemed / inferred from this negotiation of terms/settlement.

In the event of new evidence being discovered or subsequently produced by either party that will materially affect/influence on the issues of liability/damages, either party is not bound, thereafter, by the negotiation terms/settlement."

Best Regards,

Poh Kin, Chong (Mr) | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6841-2132 | email: pohkin@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

LIKK Save the Earth Print only when necessary.

From:

Claims Dept of CTI <claimsdept@sg.cntaiping.com>

Sent:

Thursday, 13 December 2018 10:46 AM

To:

Poh Kin (LKKAuto); Admin A

Cc:

Irene Tay; Alfred Toh; Hsiao Tong (LKKAuto); KKLau

Subject:

RE: <Urgent> <Seek Mandate> Direct Settlement - Accident Involving SLK 3256J

(CTI: SNM18D00765C02/6) and SGH 2237X (TP: LKK REF -

CC6/CTI18002642/Amb3) on 07/02/2018

LKK REF - CC6/CTI18002642/Amb3 CTI REF - SNM18D00765C02/6 (SLK3256J)

Dear Poh Kin

We refer to your email of even date pertaining to the above matter.

Please proceed to resolve the property damage claim at \$11,967.45.

We await your payment advice to enable Irene to act accordingly.

Best Regards

Alfred Toh
Senior Executive
Claims Department
China Taiping Insurance (Singapore) Pte. Ltd.
3 Anson Road #16-00 Springleaf Tower Singapore 079909
DID: +65 6389 6183

FAX: +65 6224 7478/6224 7175

Email: claimsdept@sg.cntaiping.com alfred.toh@sg.cntaiping.com www.sg.cntaiping.com



Disclaimer:

This message is confidential; its contents do not constitute a commitment by China Taiping Insurance (Singapore) Pte. Ltd. except where provided for in a written agreement between you and China Taiping Insurance (Singapore) Pte. Ltd. Any unauthorized disclosure, use or dissemination, either in whole or partial, is prohibited. If you are not the intended recipient of the message, please notify the sender immediately.

From: Poh Kin (LKKAuto) [mailto:pohkin@lkkauto.com]

Sent: Thursday, December 13, 2018 9:11 AM

To: Claims Dept of CTI <claimsdept@sg.cntaiping.com>

Cc: Irene Tay <irene.tay@sg.cntaiping.com>; Alfred Toh <alfred.toh@sg.cntaiping.com>; Admin A <admin-

a@lkkauto.com>

Subject: <Urgent><Seek Mandate> Direct Settlement - Accident Involving SLK 3256J (OI: SNM18D00765C02/6) and

From:

Poh Kin (LKKAuto)

Sent:

Thursday, 13 December 2018 9:11 AM

To:

'Claims Dept of CTI'

Cc:

'irene.tay@sg.cntaiping.com'; 'alfred.toh@sg.cntaiping.com'; Admin A

Subject:

<Urgent> <Seek Mandate> Direct Settlement - Accident Involving SLK 3256J (OI: CTI - SNM18D00765C02) and SGH 2237X (TP:LKK REF - CC6/CTI18002642/Amb3)

on 07/02/2018

Attachments:

LKK Adjustment Report.pdf; LKK Inspection Report.pdf; LKK RESURVEY PHOTO-AFTER REPAIR.pdf; LKK RESURVEY PHOTO.pdf; LKK SURVEY PHOTO.pdf; TP LOD_

SGH 2237X.pdf

Importance:

High

WITHOUT PREJUDICE

Our Ref: CC6/CTI18002642/Amb3 Your Ref: SNM18D00765C02

Dear Sir/madam,

ROAD TRAFFIC ACCIDENT INVOLVING SLK 3256J (OI), SGH 2237X (TP) AND OTHERS ALONG TPE TOWARDS PUNGGOL ROAD ON 07/02/2018

We refer to the above matter.

Liability: The said chain collision involved FOUR vehicles whereby our insured was the SECOND vehicle was push forward by behind vehicle.

In accordance to the MCF guideline for chain collision, we have to settle the front vehicle's claim at 100%.

We did clarify with insured (Mr Song) the nature of the accident and he's aware that NCD (if any) would be withheld for the time being.

We seek your approval to offer Third Party repairer "New Hock Teck Motor Pte Ltd" at \$ 11,967.45(all-in).

The summary is as follows: -

	Amount Claimed	Amount Revised
1. Cost of Repair	\$29,076.35	\$ 11,000.00
2. Loss of Use	\$ 1,200.00 (12 days x \$120.00)	\$ 960.00 (12 days x \$80.00)
3. LTA search fee	\$ 7.45	\$ 7.45
Total	\$30,283.80	\$11,967.45

^{**10} days recommendation for repair + 2 day weekend = 12 days

Enclosed here with all the relevant documents for your perusal.

For your approval please.

From:

Poh Kin (LKKAuto)

Sent:

Wednesday, 28 November 2018 6:21 PM

To:

Claims Dept of CTI

Cc:

'irene.tay@sg.cntaiping.com'; Lucas Lee; Admin A

Subject:

RE: Direct Settlement - Accident Involving SLK3256J (OI: CTI - SNM18D00765C02)

and SGH2237X (TP: LKK REF-CC6/CTI18002642/Ayb3) on 07.02.2018

Attachments:

LKK RESURVEY PHOTO.pdf; LKK SURVEY PHOTO.pdf; PRAF and COE rebate

form.pdf; Preliminary Advice.pdf; TP Estimate-Marked.pdf

Importance:

High

Our Ref: CC6/CTI18002642/Amb3 Your Ref: SNM18D00765C02

Dear Sir/Madam,

We refer to the above matter and below E-mail.

Enclosed for your perusal is:

- Estimated cost of repair
- Preliminary advice
- Photographs of TP vehicle in its damaged condition

Best Regards,

Poh Kin, Chong (Mr) | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6841-2132 | email: pohkin@lkkauto.com | fax: 6741-4108

Blk 51. Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

Save the Earth Print only when necessary

This e-mail contain confidential and privileged material, and are for the sole use of the intended recipient. Use or distribution by an unintended recipient is prohibited, and may be a violation of law. If you believe that you received this e-mail in error, please do not read this e-mail or any attached items. Please delete the e-mail and all attachments, including any copies thereof, and inform the sender that you have deleted the e-mail, all attachments and any copies thereof. Thank you.

From: Lucas Lee < lucas.lee@sg.cntaiping.com>

Sent: Monday, 12 February 2018 9:48 AM To: Shu Pei (LKKAuto) <shupei@lkkauto.com> Cc: Irene Tay < irene.tay@sg.cntaiping.com >

Subject: RE: Direct Settlement - Accident Involving SLK3256J (OI : CTI - SNM18D00765C02) and SGH2237X (TP : LKK

REF -CC6/CTI18002642/Ayb3) on 07.02.2018

Dear Shu Pei,

Kindly refer to the above attachment.

Thank you.



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Intern	ationale Des Experts En Autom	obile
CHINA TAIPING INSUI	RANCE (S) PTE LTD	Ref : CC6/CTI180026	642/Afb3n2
ANSON ROAD #16-0	00 RSINGAPORE 079909	Date: 18-12-2018	
SPRINGLEAF TOWER	SINGAPOREO79909	Code: CTI	II 11111111111111111111111111111111111
Ne state that the second	Policy Particula	ars :- THIRD PARTY CLAI	M
Insured Veh.	SLK 3256J	Veh. Inspected	SGH 2237X
Policy No.	DMPCSN1704531801	Coverage (\$)	0.00
Claim No.	SNM18D00765/C02/6	Excess (\$)	0.00
Assign From	2010/12/00/00/00/00/00/00/00/00/00/00/00/00/00	Assign Date	08/02/2018
2.	Vehicle P	articulars & Condition	
Make & Model	TOYOTA WISH	c.c	1794
Engine No.	HIDDEN	Year of Reg.	2006
Chassis No.	ZNE100298397	Colour	WHITE
Odometer	167108	Steering	IN ORDER
Brakes	IN ORDER	Modification	SPORTS RIM
General	GOOD		
3.	Cor	nditions of Tyres	
	Size	Make	Balance
R/H Front Tyre	225/45 R17	PIRELLI	6 mm
L/H Front Tyre	225/45 R17	PIRELLI	6 mm
R/H Rear Tyre	225/45 R17	PIRELLI	6 mm
L/H Rear Tyre	225/45 R17	PIRELLI	6 mm
4.	Desc	ription of Damages	
THE VEHICLE SU	JSTAINED DAMAGES AT THE	E REAR PORTION.	
DAMAGES SEE I	DETAILS.		
5.	Ge	neral Information	
Accident Date	07/02/2018	Inspection Date	08/02/2018
Survey held at	NEW HOCK TECK MOTOR	R PTE LTD	
	1 KAKI BUKIT AVENUE 6 # SINGAPORE 417883	#01-43 AUTOBAY @ KAKI BL	JKIT
5a.		Remarks	
A)THE INSPECT B)IN ACCORDAN	ION WAS CONDUCTED ON A NCE TO YOUR INSTRUCTION	IS, WE HAVE NOT AUTHOR	SIS. ISED REPAIRS.
5b.	The state of the s	mate Days of Repair	
ESTIMATED NO	RMAL PERIOD FOR REPAIR:	10 Working D	Days



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SGH 2237X

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS	1		
1	REAR BOOT LID	DISTORTED	1,315.20	1,248.00
	REAR BOOT LID HINGE @\$141.40	NOT NECESSARY	282.80	
	REAR BOOT LID SHOCK ABSORBER @\$371.85	BENT	743.70	743.70
	REAR BOOT LID EMBLEM LOGO	NECESSARY	51.10	51.10
1	REAR BOOT LID CENTRE CHROME MOULDING	CRACKED	274.45	274.45
4	REAR BOOT LID CENTRE CHROME MOULDING CLIP @\$6.50	NECESSARY	39.00	10.00
1	REAR BOOT LID NUMBER PLATE	BENT	50.00	50.00
2	REAR BOOT LID NUMBER PLATE LAMP @\$105.10	NOT NECESSARY	210.20	
	REAR BOOT LID OUTER LOCK SWITCH	DAMAGED	238.60	238.60
1	REAR BOOT LID INNER LOCK	DAMAGED	374.45	374.45
1	REAR BOOT LID INNER RUBBER	CUT	381.90	381.90
1	REAR BOOT LID INNER TRIM BOARD	DEFORMED	781.45	385.10
1	REAR BOOT LID WIPER LINK	NOT NECESSARY	122.25	10
1	REAR BOOT LID WIPER ARM	NOT NECESSARY	181.90	
1	REAR BOOT LID WIPER ARM COVER	NOT NECESSARY	122.35	9
1	REAR BOOT LID WIPER MOTOR	NOT NECESSARY	389.20	
1	REAR BOOT LID WINDSCREEN	CUT	971.80	971.80
-1	REAR BOOT LID WINDSCREEN TOP SEAL	NECESSARY	125.00	125.00
2	REAR BOOT LID WINDSCREEN SIDE MOULDING @\$65.00	NECESSARY	130.00	130.00
	REAR TAIL LAMP @\$387.40	CRACKED	774.80	774.80
	REAR TAIL LAMP CLIP @\$8.00	NECESSARY	32.00	32.00
	REAR L/H TAIL LAMP PANEL	DENTED	378.85	378.85
1	REAR L/H TAIL LAMP INNER PANEL	TO REPAIR SEE LABOUR	477.60	
	REAR BUMPER	DISTORTED	625.20	625.20
8	REAR BUMPER CLIP @\$6.50	NECESSARY	52.00	30.00
	REAR BUMPER BRACKET @\$88.60	DENTED	177.20	177.20
	REAR BUMPER SIDE RETAINER @\$132.10	NECESSARY	264.20	136.20
	REAR BUMPER SIDE REFLECTOR @\$141.45	N/S CUT	282.00	85.50
	REAR L/H BUMPER MUD SHIELD	NOT NECESSARY	172.25	5

Report Ref No. CC6/CTI18002642/Afb3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
4	REAR L/H BUMPER MUD SHIELD CLIP @\$6.50	NOT NECESSARY	26.00	-
1	REAR L/H FENDER	BUCKLED	972.45	972.45
1	REAR L/H FENDER AIR DUCT	NOT NECESSARY	100.40	
1	REAR L/H FENDER GLASS ASSY	NOT NECESSARY	396.20	
	REAR FENDER INNER TRIM BOARD @\$471.45	DEFORMED	942.90	942.90
	REAR END PANEL OUTER	DISTORTED	519.80	519.80
1	REAR END PANEL INNER	DISTORTED	780.50	496.50
1	REAR END PANEL TOP GARNISH	DEFORMED	374.45	374.45
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	980.30	8
2	REAR FLOOR PANEL TOP COVER @\$282.10	DEFORMED	564.20	282.10
	REAR FLOOR PANEL SIDE COVER @\$168.40	N/S DEFORMED	336.80	168.4
	REAR FLOOR PANEL INNER GARNISH	DEFORMED	291.40	291.4
	REAR EXHAUST	BENT	961.20	961.2
2	REAR EXHAUST MOUNTING @\$67.60	NOT NECESSARY	135.20	
1	REAR CENTRE EXHAUST	NOT NECESSARY	1,714.20	
1	REAR SPARE TYRE LOCK REGULATOR	DAMAGED	388.90	388.9
	LESS 25% DISCOUNT			-3,155.4
			19,506.35	9,466.4
	SPECIAL NETT ITEMS			
1	REAR BOOT LID CAMERA (SN)	DAMAGED	550.00	380.0
1	REAR BUMPER REVERSE SENSOR (SN)	DAMAGED	380.00	200.0
1	REAR FLOOR PANEL & END PANEL SEALANT (SN)	NECESSARY	450.00	60.0
	1 NO. 1		1,380.00	640.0
	LABOUR			
	TO REMOVE & REFIT CUSHION .		280.00	80.0
	TO REMOVE & REFIT ROOF LINNING.	NOT NECESSARY	380.00)
	TO REMOVE & REFIT PETROL TANK .		280.00	80.0
	TO REMOVE & REFIT REVERSE SENSOR.		100.00	50.0
	TO REMOVE & REFIT CAMERA.		180.00	50.0
	TO REMOVE & REFIT FENDER GLASS.		120.00	60.0
	GUM.		50.00	
	TO REMOVE & REFIT REAR WINDSCREEN.		120.00	100.0

Report Ref No. CC6/CTI18002642/Afb3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	GUM.		50.00	50.00
	TO REMOVE & REFIT REAR & CENTRE EXHAUST .		380.00	80.00
	TO CHECK WIRING.		100.00	30.00
	TOWING FEE		100.00	60.00
	TUFF KOTE.		150.00	60.00
	PANEL BEATING INCLUSIVE OF THE REPAIR OF REAR L/H TAIL LAMP INNER PANEL AND REAR FLOOR PANEL.		3,500.00	1,500.00
	SPRAY PAINTING.		2,400.00	1,400.00
	The sales are the sales are a consequent.		8,190.00	3,630.00
-1	GRAND TOTAL		29,076.35	13,736.46

	11,000.00
RECOMMENDED COST OF LUMP SUM REPAIRS	11,000.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CC6/CTI18002642/Afb3n2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.